
Stochastic Simulation of Evolutionary Games : Selection (via Moran Process) without Mutation

Strategy A Strategy B

B3 picked for reproduction

Parent pop. Array (P) 

Offspring pop. Array (O)

Suppose RN=3

Pick  a Random member 

Compare with <fitness> for reproduction: Pick RN between 0&1. If RN < normalized_fitness of B3, then OK 

OK

Not OK

B becomes the sixth member of the Offspring pop. at t=2 

A picked for death at random

Random Pair-wise interaction to calculate payoff to 
each member of the population & initialize fitness

Randomized Initial Population

Initial Population

a c d a

da b a

a’ c’ d’ a’ a’ b’ a’d’

Payoffs

Population

Payoffs

Normalized fitness after m rounds
a’=(a+1)/(a+b+c+d+4)

b’=(b+1)/(a+b+c+d+4)

c’=(c+1)/(a+b+c+d+4) 
d’=(d+1)/(a+b+c+d+4)

Repeat for m rounds to calculate 
cumulative payoff to each 

Normalized Fitness

Note: Basal fitness is same for all members and set to 1

Steps to be carried out every generation


